_I_>..
F_E
FP-
r}:J
ru
115.‘.

Al FE [EX M195M 4]

OOI'

Muolx - M AEE2] MEH|M SH ZIETN

B

A
T

0>

omrov
r.m

b
)

=
T

Het

AMFASEHS

411-81-23745

C

(cH

ok
=

EX

4

)

>|

_|

Lt
[}

[m:
—

T RotE AW I

Azl 516
: 061-453-9000)

2 A
Metdz SZA| Wstot
14X Adf
7|z

2013. 11.

DOE

=271
==

_\'_ri
_IPOHHI]

Oﬂ

164HZ 2|

HI
0|I'I

rﬁ
H>|'
rIHIJ
r&
rE
_Iﬁ

11 ~ 2013. 12. 20

8,958.09 m’

AFAA[Z0l(m) « HH(nr) « T2l () ]

[m}

[}

8,958.09 m’

AMAXSEHS 131-86-17809

JIM'
0_>'._
FE

oAl MT XHE 1206-3 2XE[2T3 109

=
™

=~
=

>

0_>.‘_
HJQ

[=]
™

_|I>|'

D}J_
HH>|'
Ji
FE

JIM'
ﬂJ}'L

0_>'._

-8 X H

~

o

~

[ |

Al
Ay

JI)II

A A=A T)

Ij_

-y e

al

=

=
=

b.

=

H ZF

Sh
S

X 28=H|2

dnE MEeH

ANzl M39z=HM2gtol wat AHHA - MH AL E

K=}
C
2013 ¥
H ol

SHAR|TXIAL - AZ - 25 - 7EE A5

HX| M1752l6MAle] MEaiA - MAZIY ALDA ALE

H
=4

210mm X 297mm[ 28 AFX| 809/ m (K| &2 E) ]



1. SY¥Z2H2013.11.11)

NS _ ) B Hass e 2 =x=g | =1}
= | ws | 59 A &) Ymin | @) /o) | of
#1 5 sk 8:30 - 12:30 10.37 2,630.01 0.0013 o|at
#2 Al HbEE 8:35 - 12:35 10.32 2,617.33 0.0014 o|gat
#3 = ek 13:00 - 15:00 10.36 1,309.09 0.0028 o|gat
£X|
AAM
(6point)
#4 =S ek 13:03 - 15:03 10.31 1,302.78 0.0025 o|gat
#5 Al HbsE 15115 - 1715 10.33 1,305.30 0.0027 o|at
#6 = Hisk 15118 - 17:18 10.35 1,307.83 0.0025 o|gat
#7 A 2| #1 8:40 - 10:40 10.31 1,312.05 0.0027 o|at
A E
= #8 Al 2f#2 13:10 - 15:10 10.33 1,305.30 0.0025 o|gat
(3point)
#9 A 2#3 13:30 - 15:30 10.36 1,309.09 0.0028 o|gt
ATZE FH
#10 v 8:45 - 9:25 10.31 438.91 0.0050 o|gat
1mo|LH
ol AHAH
2| Ady| S
e #11 Tmolul 13:15 - 13:55 10.32 434 .68 0.0048 o|gat
m
(3point)
T2 FH
#12 o 15:20 - 16:00 10.35 435.94 0.0043 o|at
1mo|LH
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2. £8&3142013.11.12)

Al E _ _ _ Higs S 2 ENM =1}
=7 | s 1A &) min) | @) OHfar) | 0%
#1 5 gk 8:30 - 12:30 10.31 2,605.55 0.0014 ojat
#2 Al gbak 8:33 - 12:33 10.35 2,615.66 0.0012 ojat
#3 = absk 8:37 - 12:37 10.36 2,618.19 0.0012 ojat
£X|
dAM
(Bpoint) ~
#4 S gtak 8:40 - 12:40 10.34 2,613.13 0.0014 ojat
#5 = absk 15:35 - 18:05 10.35 1,623.32 0.0021 o gt
#6 5 gk 15:37 - 18:07 10.36 1,624.88 0.0022 ojat
#7 A Q#1 8:45 - 10:45 10.33 1,314.59 0.0025 ojat
#8 A 2#2 10:00 - 12:00 10.31 1,302.78 0.0027 ojat
Zhed &
= #9 A 2#3 13:00 - 15:00 10.36 1,299.91 0.0026 ojat
(5point)
#10 A 2#4 13:20 - 15:20 10.33 1,296.14 0.0028 ojat
#11 A 2#5 15:40 - 17:40 10.34 1,297.40 0.0026 ojat
AT=Z2 FH
#12 v 8:50 - 9:30 10.32 439.34 0.0044 o gt
SRSESLE] 1mo|LH
A+
2point oltz E2EH
(2point) #13 ’ OI; 15:30 - 16:10 10.35 432.88 0.0051 o| 2k
m
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3. £8&31H(2013.11.13)

Al E _ _ _ Higs S 2 ENM =1}
_I?_E N ;Io-l ox §€'A7J—E— O|_.—| o o o
= F | ws gk =) (@/min (0) O few) | of%
#1 Al dbsk 8:20 - 12:20 10.35 2,597.31 0.0012 o|at
#2 = sk 8:23 - 12:23 10.32 2,589.78 0.0012 o|gat
£2X|
AAM
(4point)
#3 5 sk 13:10 - 17:10 10.31 2,578.22 0.0014 o|gat
#4 = ek 13:15 - 17:15 10.32 2,580.72 0.0015 o|gt
#5 A 2| #1 8:25 - 10:25 10.35 1,317.14 0.0025 o gt
#6 A 2f#2 10:30 - 12:30 10.33 1,296.14 0.0027 o|gt
ES e PNy
= #7 A 2#3 13:25 - 15:25 10.32 1,290.36 0.0025 o|gat
(5point)
#8 A Q| #4 15:30 - 17:30 10.34 1,292.86 0.0028 o|gat
#9 A 2#5 16:00 - 18:00 10.31 1,289.11 0.0028 o|gat
AT=2 FH
#10 v 8:30 - 9:10 10.36 441.04 0.0043 o|gat
1m O|LH
Ol AH Al H
iR #11 ] ol 13:20 - 14:00 10.33 430.54 0.0051 o gt
m
(3point)

AT ZEH
#12 16:00 - 16:40 10.31 429.70 0.0041 o|ot

1m OfLH
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4., S¥Ad1H2013.11.14)

,\:|0
voﬂ
f\_||>|I

8:20 - 12:20 10.33 2,592.29 0.0014

8:23 -~ 12:23 10.36 2,599.81 0.0012

13:00 - 17:00 10.31 2,5678.22 0.0014

13:05 - 17:05 10.33 2,583.22 0.0013

8:25 - 10:25 10.36 1,327.86 0.0027 ol gk

13:115 - 15:115 10.32 1,290.36 0.0025

14:30 - 16:30 10.35 1,294 .11 0.0027

8:30 9:10 10.35 442.19 0.0040

H = A= = of %
= T S =8 =
#1 = gt
#2 5 4
X
dAM
(4point)

#3 Mg

#4 s g

#5 o 2[#

=k

T #6 A #2

(3point)

#7 o 2A#3

AT =2 5FE

#8

9|4 M| TmoJH

&4

(2point) 40 ol = HE

1mOo|LH

13:110 - 13:50 10.34 430.95 0.0048
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5. £8&31(2013.11.15)

NE | 2y o5 . YERE| " ¥ | B¥sE | =0
28| Lo | SEAR | smAamE) | Y b
=T ws I =) min) () Oh/o) | A&
#1 = bt 8:25 - 12:25 | 10.36 2581.70 | 0.0013 o|gt
#2 Lt odpst 8:30 -~ 12:30 | 10.33 257422 | 0.0014 o|gt
22X
ZAHNM
(4point)

#3 = st 13:00 - 17:00 | 10.34 2 567.77 | 0.0013 o| gt
#4 M epet 13:03 -~ 17:03 | 10.31 2560.32 | 0.0013 o|gt

#5 Al Q# 8:35 - 10:35 | 10.36 1,309.09 | 0.0027 o| gt

At EF

z

(2point)

#6 A 942 13:10 - 15:10 | 10.32 1,276.97 | 0.0026 o|gt

AT ZHE

#7 v 8:33 9:13 10.32 439.34 0.0047 o| gt

244 M Tm Ol

27

(2point) o]z HE

#8 N 13:05 - 13:45 | 10.35 426.89 0.0051 o|gt

1m O|Lf
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<sampling-#1>

<sampling—#7> <{sampling—-#8> -
sYZaol utg Fgheld
e EE IR
AMH s 2 A Y F oMY Jiset BEXEAM XM, AFEFE XA,
MM T XE MHEsE S ZTo e[sf 0.0013~0.00517H /2 EHE[JU2
of 25 MelulE5 87| E(AMHetHBalY AN FIBE(AYETHE AHul S5
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6. $8&31H(2013.11.18)

%t

)

:Iru

=]
-

(

rEz
}ol-kru

/)

#

_L

2,652.41

£X|
AAM
(4point)

#2 10.35 2,662.71 0.0014

#3 10.36 2,665.28 0.0012

#4 10.33 2,657.56 0.0014

0?:

ﬂmi

—{O

AFZ FH
im OfLH

119

#5 10.31 445.27 0.0039

(1

oint)

'O

DIO

AS7u &7

#6
0.3~1mO|Lf

10.33 446.14 0.0042

o}
=

n|o
oH

7|8l &

#7
0.3~1mO|Lf

10:00 - 10:40 10.35 445.39 0.0046 ol gk

oS0}
[=R=]

o}
=

7|
(5point)

nlo
oH

7|8 &

#8
0.3~1mO|Lf

10:30 - 11:10 10.34 444 .96 0.0043

o}
=

nlo
oH

7|8 &

#9
0.3~1mO|Lf

13:40 - 14:20 10.33 441.34 0.0043

SeUS7IHET

#10
0.3~1mO|Lf

14:00 - 14:40 10.31 440.48 0.0049

H 7=
HhE T 2 2 E
1m O Ly
H7|=
HhE T 2 2 E
im ol
H7|=
HrEL 2 25
im ol
HZ=

HE L2 2

1m OfLf

HZ|=

HhE 1 2 2 E

1m O Ly

#11 12:30 - 13:10 10.35 442.19 0.0047 ol gk

#12 12:40 - 13:20 10.32 440.91 0.0053

H7[=
&
(5point)

#13 12:50 - 13:30 10.34 441.77 0.0050

#14 14:50 - 15:30 10.32 440.91 0.0047

#15 15:00 - 15:40 10.36 442.62 0.0041 ol gk
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# 3 AMZEI(2013.11.18)

<sampling-#1> ing— <sampling-#3>

<samp1ing—#4> <samphng #5> <Samp11ng #6>
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7. 58Z4322013.11.19)

A E _ _ _ Higs S 2k ENM =1}
=T ws = 22 i) | @) OHfar) | 0%
#1 = sk 8:10 ~ 12:10 10.31 2,633.47 0.0013 o gt
#2 Al Hbsk 8:15 ~ 12:115 10.34 2,641.13 0.0014 o gt
#3 = disk 13:15 ~ 15:15 10.32 1,313.32 0.0025 o2k
£2X
AAM
(6point) i
#4 5 disk 13:20 ~ 15:20 10.38 1,320.96 0.0027 o|at
#5 Al Hbsk 15:35 ~ 17:35 10.35 1,317.14 0.0025 o|gat
#6 =S sk 15:40 ~ 17:40 10.32 1,313.32 0.0028 o|gt
#7 A 2|#1 8:35 ~ 10:35 10.35 1,336.16 0.0024 o2k
ES PNy
= #8 Al 2#2 8:35 ~ 10:35 10.33 1,313.96 0.0027 o|gt
(3point)
#9 4 2#3 13:10 ~ 15:10 10.36 1,318.41 0.0024 o|gat
U722 FH
#10 v 8:33 ~ 9:13 10.37 447 .86 0.0039 o|gat
im OfLH
ol AH A H
e #11 ) olul 8:33 ~ 9:13 10.36 439 .47 0.0051 o2k
m
(3point)
T2 FH
#12 v 13:05 ~ 13:45 10.32 437.77 0.0047 o|at
1m O|LH
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8. EdZ1(2013.11.20)
N ) i ) Haes ° 2 =M= | =3
2| ws | 58 A ZHE) | (/min) (0) OH/ar) | of
#1 2 upEt 8:20 ~ 10:20 | 10.35 | 1.326.58 | 0.0024 | oot
#2 Lt ubsk 8:23 ~ 10:23 | 10.30 | 1.,320.17 | 0.0027 | ojo
o #3 2 opst 10:30 ~ 12:30 | 10.31 1,312.05 | 0.0028 | ojgt
o
ZAHNM
(Bpoint) | 4, = urs 10:50 ~ 12:50 | 10.36 1,318.41 0.0025 | oot
#5 L ubst 13:05 ~ 15:05 | 10.37 | 1.315.00 | 0.0024 | oot
#6 A upsk 13:07 ~ 15:07 | 10.33 | 1.309.93 | 0.0027 | oot
#7 A ol# 8:25 ~ 10:25 | 1034 | 1.325.30 | 0.0024 | oot
#8 Al 9#2 | 10:35 ~ 12:35 | 1032 | 1.313.32 | 0.0027 | oot
Apel 2}
T #9 Al 9#3 | 10:45 ~ 12:45 | 1034 | 1.315.87 | 0.0026 | oot
(5point)
#10 Al 9#4 | 13:00 ~ 15:00 | 10.38 | 1.316.27 | 0.0027 | oot
#11 Al 9#5 | 14:00 ~ 16:00 | 10.35 | 1.312.47 | 0.0028 | oot
U7z 2
#12 v 8:30 ~ 9:10 10.32 442 50 0.0040 o| gt
im oLy
U7z 2
olmAttl | #13 B 10:40 ~ 11:20 | 10.38 440.32 0.0050 | ojgt
1m OfLy
27
| o7z He
(4point) | 1, T 11130 ~ 12110 | 10.32 436.22 0.0048 | ojgt

1m oLy

ATZE HH
#15 T 193510 ~ 13:50 | 10.33 436.64 0.0051 o|at

1m oLy
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#E AHZI(2013.11.20)

<sampling-#1> <sampling—-#2>
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9. £8&1(2013.11.21)

%t

)

IH'

(

/\J

/)

8:10 ~ 12:10 10.36 2,618.19 0.0012

8:13 ~ 12113 10.31 2,605.55 0.0014 ol gk

8:16 ~ 12:16 10.33 2,610.61 0.0014 ol gk

8:20 ~ 12:20 10.36 2,618.19 0.0013 ojgt

13:00 ~ 17:00 10.34 2,603.93 0.0014 ojgt

13:06 ~ 17:05 10.35 2,653.16 0.0013 ojgt

13:115 ~ 15:15 10.36 1,304.48 0.0025

8:25 9:05 10.33 439.76 0.0050

13:110 ~ 13:50 10.36 436.36 0.0047

9:10 9:50 10.32 433.15 0.0044

O o= AlE = of =
= T S =3 2%
#1 5 o8
#2 A gbsk
#3 =t dhsk

£X|

AAM

(6point)

#4 s gt

#5 A gbsk

#6 S gtk

ESgubS,

| #7 Al 9|

(1point)

AT2 FE

#8 v

SIPUPER] tm ol

Ut

(2point) 4o olmz HE

im OfLH

E=XeoJ3 urn

S0y = |=|7_ =

(1p0int) #10 Hil &

oin

P 0.3~1mOJL}

H7|l= 7|2

HhE #11 HIET 2 2 E

(1point) im OfLH

11:00 ~ 11:40 10.35 434.41 0.0052
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10. £8&142013.11.22)

rj[_z
le'I:ru
J|>|'
—|o
>||
I>|'

=
T

(=]
L

,\:|0
vom
A_I

|I
09£

8:30 ~ 12:30 10.37 2,611.49 0.0014

0

.,_
II

w

#2

nr

8:35 ~ 12:35 10.32 2,598.90 0.0013 ojgt

0

£2X|
AAM
(4point)

|I
09£

#3

OHT

9:00 ~ 13:00 10.33 2,601.41 0.0012

0

|I
09£

#4 9:05 ~ 13:05 10.35 2,606.45 0.0014

_HII

0

#5 A 241 8:50 ~ 10:50 10.33 1,309.93 0.0028

#6 A 2Q#2 11:00 ~ 13:00 10.36 1,299.91 0.0029

ol TR

#7
1mo]Lh

8:40 9:20 10.31 438.91 0.0050

ofet

SEELS

#8
1mo]Lh

11110 ~ 11:580 10.34 437.07 0.0043
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12. 53 1}(2013.11.26)

A E _ _ _ Higs S 2k ENM =1}
_I?_E N ;xo-l oX ;Io-lAa'_E_ O|_.—| o o o
= I IZHE) | (/min) () Oh/o) | A5
#1 M ghak 8:20 ~ 12:20 | 10.38 2,641.91 0.0012 oot
#2 ==l 8:23 ~ 12:23 10.30 2,621.55 0.0012 oot
#3 S 2EF 8:27 ~ 12:27 10.31 2.624.10 0.0014 o|at
2X|
AAHM
(6point) i
#4 2 dist 8:30 ~ 12:30 | 10.35 2,634.28 0.0013 oot
#5 2 dhst 15:05 ~ 17:05 | 10.33 1,305.30 0.0028 oot
#6 Lt g5k 15:10 ~ 17:10 | 10.36 1,309.09 0.0025 o|ot
#7 Al Ql# 8:50 ~ 10:50 | 10.33 1,319.29 0.0027 oot
#8 Al Qg2 | 10:00 ~ 12:00 | 10.36 1,313.74 0.0025 o|ot
A E
=
(4point) ) ,
#9 Al Q#3 | 12:30 ~ 14:30 | 10.38 1,311.62 0.0025 oot
#10 Al Ql#4 | 15:00 ~ 17:00 | 10.32 1,304.04 0.0025 o|ot
T2
#11 v 8:40 ~ 9:20 10.36 444 21 0.0046 o| gt
SRS 1mo|Ly
27
2point ATZ2EH
(2point) #12 1 o|_'|__H 15:20 ~ 16:00 | 10.33 435.10 0.0052 oot
m
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13. £384d1H2013.11.27)
A E _ _ _ Higs S 2 ENM =1}
_I?_E N §Jg| ox ;IO-IALI'_E_ O|_.—| o o o
=T | ws *17 =) iy | ) /o) | of
H 7|20k XA
#1 S Z&H 10:00 ~ 10:40 10.35 445 .39 0.0047 o|ot
im O|LH
i =-Jo] >SPNFS!

#2 S Z&H 10:05 ~ 10:45 10.32 444 10 0.0042 o|gat
im OfLH

Ho 2 H 7| E0oFM XA

oM X| A #3 oSz HH 10:06 ~ 10:46 10.33 444 53 0.0050 o|gt

(5point) Tm OfLf

H 7| S0k XA

#4 oc=zHH 10:07 ~ 10:47 10.38 446.68 0.0048 o|at

im O|LH

H 7|20k XA

#5 S Z&H 10:10 ~ 10:50 10.31 443 .66 0.0046 o gt

1m O|LH
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_I?_E N 57&',' ox ;IO-IALI'_E_ O|_.—| o o o
= s | 59 FA =) iy | ) /o) | of%
H 7|20k XA
#1 S Z&H 10:40 ~ 11:20 10.38 448.30 0.0042 o|ot
im O|LH
i =-Jo] >SPNFS!

#2 S Z&H 10:45 ~ 11:25 10.30 444 84 0.0042 o|gat
im OfLH
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#5 S Z&H 10:50 ~ 11:30 10.33 446 .14 0.0048 o gt
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=T ws | oo A SENEE 0 T o) OHfar) | 0%
H 7|20k XA
#1 S Z&H 8:00 ~ 8:40 10.33 447 .76 0.0045 o|ot
im O|LH
i =-Jo] >SPNFS!

#2 S Z&H 8:05 ~ 8:45 10.35 448.63 0.0050 o|at
im OfLH

Ho 2 H 7| E0otM XA

oM X| A #3 S zZHH 8:06 ~ 8:46 10.31 446.89 0.0043 o|gt

(5point) 1m OJLH

H 7|20k XA
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16. 42 14(2013.11.30)
A E _ _ _ Higs S 2 ENM =1}
2R = | =™ 9z =MAIZHE) | ST S | TS
HS min cm =
H 7|20k XA
#1 oz HE 12:00 ~ 12:40 | 10.35 437.49 0.0044 o|gk
im O|LH
i =-Jo] >SPNFS!

#2 S Z&H 12:05 ~ 12:45 10.31 435.80 0.0047 o|gat
im OfLH

Ho 2 H 7| E0oFM XA

OF&M X| A #3 oSz HH 12:06 ~ 12:46 10.32 436.22 0.0049 o|gt

(5point) 1m OJLH
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#4 oc=zHH 12:07 ~ 12:47 10.36 437.91 0.0050 o|at
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#5 S Z&H 12:10 ~ 12:50 10.33 436.64 0.0048 o gt

1m O|LH




=X x| =(2013.11.30)

Il ©

19%-38 &

% 799“77 g

= ® =Fex




=X x| =(2013.11.30)

F:' COQ | - _AND







# & AMEI(2013.11.30)

|

<{sampling—#4>

<sampling—-#2>

<sampling-#5>

<sampling-#3>

i\
0x
[N
H
=2

g Seteld

e EEECIEEL

Mot shE 2 A Y
Sl MEYT KT Mol
of BT MEuEs87|%
271%)2l 0.0174/ar 0l2ke

0 o I

XAAM K&, EARZE
.0044~0.00507l /e 2 =
M| 38 == (A} A

H
-1 o i
~
o
=~
AEFH{o| A




17. 3 Z1H2013.12.01)
A E _ _ _ Higs S 2 ENM =1}
HS min cm =
H 7|20k XA
#1 S Z&H 12:20 ~ 13:00 10.32 434 .68 0.0044 o|ot
im O|LH
i =-Jo] >SPNFS!

#2 S Z&H 12:25 ~ 13:05 10.36 436.36 0.0047 o|gat
im OfLH

Ho 2 H 7| E0oFM XA

OF&M X| A #3 oSz HH 12:26 ~ 13:06 10.32 434 .68 0.0050 o|gt

(5point) 1m OJLH

H 7| S0k XA

#4 oc=zHH 12:27 ~ 13:07 10.33 43510 0.0050 o|at

im O|LH

H 7|20k XA

#5 S Z&H 12:30 ~ 13:10 10.34 435.52 0.0048 o|ot
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18. 58 Z1H(2013.12.02)
A E _ _ _ Higs S 2 ENM =1}
_E_E N §Jg| OX ;Io-lAj_E_ Ol_._l o -1 o O
T | s 1A ZH2) | (/min (0) OHfar) | 0%
H 7|20k XA
#1 S ZHE 9:00 ~ 9:40 10.36 449.06 0.0045 o gt
im O|LH
7= i =-Jo] >SPNFS!

OFM X|H #2 S ZHEH 9:05 ~ 9:45 10.33 447 .76 0.0048 o|at
(3point) 1m OfLH

i == Yo} >SPNFS!

#3 oS=zHH 9:06 ~ 9:46 10.32 447 .33 0.0050 o|gt

im OfLH
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19. £Xd2Z1}(2013.12.03)
A E _ _ _ Higs S 2k ENM =1}
=T ds = IZHE) | (Gymin) (1) OHfar) | 0%
#1 = ek 11:00 ~ 15:00 10.38 2,614.01 0.0014 o gt
#2 Al Hbsk 11:03 ~ 15:03 10.30 2,593.86 0.0012 o gt
£2X|

AAM

(4point) )

#3 5 disk 11:08 ~ 15:08 10.33 2,601.41 0.0013 o|gat
#4 = sk 11:10 ~ 15:10 10.35 2,606.45 0.0014 o|at

#5 4 2#1 11115 ~ 13:15 10.32 1,299.45 0.0025 o|gat

ES PNy

=

(2point) _ .

#6 Al 2#2 14:00 ~ 16:00 10.33 1,300.71 0.0029 o gt

2| Ady| ol He

A T2 HH _ .

e #7 Tmolul 11:20 ~ 12:00 10.34 433.99 0.0044 o|gat
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20. 5% Z1(2013.12.04)

IN'
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8:00 ~ 12:00 10.32 2,589.78 0.0012

II
w

#2

OHT

8:03 ~ 12:03 10.37 2,602.32 0.0013 ol gk

0

.,_
II

w

#3

nr

8:07 ~ 12:07 10.35 0.0014

0

2,597.31

|I
09£

_>L

#4 8:10 ~ 12110 10.34 2,594.80 0.0013

0

£2X
AAM
(8point)

|I
09£

#5 13:00 ~ 17:00 10.35 2,606.45 0.0014

_HII

0

|I
09£

#6

OHT

13:05 ~ 17:05 10.33 2,601.41 0.0012

0

m

#7 13:110 ~ 17110 10.31 2,596.38 0.0012

#8

m

13116 ~ 17115 10.35 2,606.45 0.0014

Al

#9 2|#1 9:110 ~ 11110 10.32 1,304.04 0.0026

#10 A 2#2 14:10 ~ 16:10 10.36 1,299.91 0.0027 ojgt

SRS

#11
1mo]Lh

8:20 9:00 10.33 438.20 0.0047
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(2point)

0?:

<l A

119

SRS

#12
1mo|Ly
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#Z ALEI(2013.12.04)
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21. £¥&14(2013.12.05)
AR - } - Hass S 2t =M= | =1}
=T | ws I 2= min) () H/or) | of=
#1 A ebst 8:00 ~ 12:00 | 10.38 | 2.641.91 0.0014 | ojot
#o L sk 8:03 ~ 12:03 | 1032 | 2.626.64 | 0.0013 | oot
#3 = uhst 8:07 ~ 12:07 | 10.34 | 2.631.73 | 0.0013 | ojo
x| #4 2 ghst 810 ~ 12:10 | 1035 | 2.634.28 | 0.0013 | oot
ZANM
(8point) | 45 M ebs 13:30 ~ 15:30 | 1032 | 2.617.33 | 0.0014 | oot
#6 = ubst 13:35 ~ 15:35 | 10.34 | 2.622.40 | 0.0012 | oot
#7 A ehst 16:00 ~ 18:00 | 10.36 | 2.627.47 | 0.0014 | oot
#8 = st 16:05 ~ 18:05 | 10.34 | 2.622.40 | 0.0013 | oot
#9 Al 9#1 | 9:00 ~ 11:00 | 10.34 | 1.320.57 | 0.0027 | ojgt
xtoixt | #10 Al 9#2 | 11:05 ~ 13:05 | 10.35 | 1.312.47 | 0.0025 | oot
xe
(4point) | 4y Al o3 | 13:40 ~ 15140 | 10.36 1.313.74 | 0.0028 | ojgt
#12 Al 9#4 | 16:10 ~ 18110 | 1034 | 1.311.20 | 0.0025 | oot
SEEL
#13 N 8:15 ~ 855 | 10.38 446.68 0.0040 | ojgt
1mo| Ly
2 A4 4w
ol P e
by #14 v 13:50 ~ 14:30 | 10.32 436.22 0.0051 o| gt
. 1mo| Ly
(3point)

ol P e
#15 B 16:20 ~ 17:00 | 10.36 437.91 0.0048 | olot
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#Z AHEI(2013.12.05)

<sampling-#1> <sampling-#3>
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22, =X Z14(2013.12.06)
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r
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#1

nr

8:30 ~ 12:30 10.38 2,632.54 0.0013

0

|I
09£

#2 8:33 ~ 12:33 10.34 2,622.40 0.0013

0

£2X|
AAM
(4point)

II
09£

#3 8:37 ~ 12:37 10.35 2,624.94 0.0014

_HH
0

|I
09£

#4

OHT

8:40 ~ 12:40 10.31 2,614.79 0.0012

0

#5 2| 9:40 ~ 11:40 10.33 1,314.59 0.0028

A2 R

#6
im OfLH

8:50 ~ 9:30 10.37 447.86 0.0049
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<sampling—-#2> <sampling-#3>

I"" :

<sampling—#4> <{sampling—-#5> <sampling—#6>

£z g Sgteld

EX¥ZAnte| Hot

M S 2 A EY F odMEd Jhsst 2X(EAM XN, AAEFH XA,
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23. £3&411(2013.12.18)
T . expoye | BERE | w® | s3sz | zx3
™ T H._'li = o ‘r‘|7(| =S |r_(T'__) (ﬂ/mln) (ﬂ) (7 /sz Ozl—l?—
#1 Lt ubsk 8:00 ~ 10:00 | 10.32 | 1.322.74 | 0.0027 | ojgt
#2 2 opst 8:05 ~ 10:05 | 10.37 | 1.329.14 | 0.0025 | ojgt
#3 = uts 10:20 ~ 14:20 | 10.33 | 2.610.61 0.0014 | ojgt
x| #4 2 upEt 10:25 ~ 14:25 | 10.32 | 2.608.08 | 0.0014 | ojgt
2 o
(8point) | g SIS T 13:00 ~ 15:00 | 10.38 1.311.62 | 0.0025 | ojgt
#6 L ubst 13:05 ~ 15:05 | 10.35 | 1.307.83 | 0.0027 | ojgt
#7 A urak 15:30 ~ 17:30 | 10.31 1,307.40 | 0.0026 | ojgt
#8 = urs 15:35 ~ 17:35 | 10.32 | 1.308.66 | 0.0027 | ojgt
#9 A Q# 8:03 ~ 10:03 | 10.35 | 1.326.58 | 0.0024 | ojgt
RoIxF | #10 Al e#2 | 10:30 ~ 12:30 | 10.33 | 1.305.30 | 0.0028 | ojgt
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